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A Trip to the Seaside at Brundon
Deduction and Inference 1 Answers

Who saw the sea first?

Mum and Dad

Who won the £1?

Megan.

How many people were in the car?

4 people.

Why do you think Mum and Dad didn't mention that they had seen the sea
first?

They didn't want to disappoint Megan and wanted her to be happy.

How many stages were there in Dad's plan?

6 stages.

Megan had exactly £5 in 2p coins, how many coins was this?

250 coins.

What were they going to have for their lunch?

Fish and chips.

8.

What 3 reasons does Mum give for using the Park and Ride?

It's easier, cheaper and keeps traffic and pollution out of the fown centre.

9.

If it costs £2.50 for 5 hours, how much would 2 hours cost?

£1.

10.

If Mum put exactly the right money in the machine, what coins did she
use?

A £2 coin and a 50p,

11.

Dad put the ticket in the car so it could be seen. Who would be looking at
it?

A parking warden.,

12.

If Megan is 10, do you think Zak is older or younger than her? What
makes you think this?

Older than her; he is playing on his games console, he doesn't seem very
excited about a day at the seaside and he doesn't talk much.




Sonia’'s Day
Deduction and Inference 2 Answers.

1. |What was the weather like on Tuesday? How do you know this?
It had been raining, her hat was still wet from the rain.
2 |What time did Sonia start work?
9.15
How many items did she check that she had with her? Why do you think
3. |she needs a camera?
6 items. A camera to take photos of illegally parked cars.
4. |Where was the car parked that she gave her first ticket to?
Outside the chemist on Queen Street,
5. |By what time should all the cars parked on West Street have gone?
11.15
6. |For how long had Sonia worked before she had her coffee?
1 hour 15 minutes.
7. | What do some shopkeepers think of Sonia? Why is this?

They think she is the devil. They think she puts off customers parking outside

their shops.

Sonia decides to turn a blind eye' to the van parked outside Mr Patel's.
What does this mean?

To choose to ignore.

Why do you think she might get the sack for accepting a free take-away?

It might seem that she had taken a bribe to ignore the illegal parking.

10.

For how many hours did Sonia work?

5 hours 45 minutes.

11.

How many tickets did Sonia issue during her work? If each ticket cost the
driver £60, how much did she raise?

5 tickets raising £300

12.

What did she have to remember to do that night?

To sew a button on her jacket.




Parking Appeal Letter
Deduction and Inference 3 Answers.

. |Who wrote this letter?

Brian Hopewell.

. |Why did they write it?

To appeal a parking ticket.

. | Where had he parked his car?

Outside the chemist on Queen Street, Brundon.

. | What was the matter with his daughter?

She had a chest infection and a bad cough.

. |What had the doctor prescribed?

Some anti-biotics and other medicine.

How would you describe the tone of the letter? Underline all the words

" |that describe this.

informal humorous formal
persuasive polite angry

Do you think he should be excused his parking ticket? Look at the
. |evidence in 'Sonia’s Diary’, elsewhere in the pack, to consider the
circumstances?

Any sensible opinion

On a separate sheet write a response from the appeals’ officer giving your

reasons for your decision. Write the letter in a formal, business-like
" |style.

Teacher assessment




Brundon Car Park Fees
Deduction and Inference 4 Answers

. |Where is the car park?

Harbour Top, Brundon.

What is the maximum amount of time you can park in the car park during
" |day time?

5 hours.

. |If you park at 10.30 and want to stay until 1 pm, how much will this cost?

£3 for 3 hours.

If you arrive at 10.15 and buy a ticket for £4, by what time must you
" |leave?

2.15 or 14.15.

Look at the notice carefully, is there any part of the day when there is
" | free parking? Why do you think the council allows this?

In the evenings between 6 pm and 8 pm, to encourage people to visit the
town's restaurants, pubs and other attractions.

. |What two kinds of vehicle are not allowed to park?

Caravans and trailers.

. |Why do you think parking tickets have to be visible at all times?

So that parking wardens can easily check the tickets.

. |Do disabled badge holders have to pay?

Yes.

. |If you need to buy 3 hours of parking and you put 4 coins in the machine,
what coins did you use?

2 x£1and 2 x 50p.




Parking Crossword Solution

Deduction and Inference 5
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